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QUESTION 1

A customer operates a data center based on third-party servers, which includes third-party storage with an iSCSI SAN.
The architect needs to design a solution that can seamlessly access the current data from a new HPE Moonshot
system. 

How can the HPE Moonshot system access the legacy storage? 

A. using native iSCSI target software to connect to the storage on a dedicated LAN 

B. using native iSCSI initiator to connect to the storage on a dedicated LAN 

C. using native iSCSI initiator to connect to the storage on the management LAN 

D. using an HPE Multifunction router to convert iSCSI to Virtual Connect 

Correct Answer: B 

 

QUESTION 2

During a data center transformation discussion, an architect obtains the following customer information: 

1.

 core business depends heavily on advanced data modelling techniques that has been developed internally 

2.

 infrastructure in use takes anywhere from 10 hours to five days to complete complex data models for the various
development teams that rely on them 

3.

 has a proud reputation as an "environmentally friendly" Fortune 500 company 

4.

 increasing productivity of its development team is the highest priority 

Which large scale HPC solution should the architect recommend to help the customer achieve its transformation goals? 

A. HPE Apollo 8000 

B. HPE Integrity Superdome X 

C. HPE Apollo 2000 

D. HPE Apollo 6000 

Correct Answer: C 
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QUESTION 3

A customer is working on a project to enable workplace productivity. The customer needs a solution that will allow
employees to connect to their workplace environment by using a personal mobile phone, tablet, laptop, or desktop
computer. Employees must be able to stop and resume work seamlessly while travelling between offices. 

Which purpose-built hardware can the customer use to help achieve this goal? 

A. HPE Moonshot to provide hosted physical desktop and application virtualization t mobile users 

B. HPE Apollo 2000 to provide VDI access to mobile users 

C. HPE Moonshot to provide VDI access to mobile users 

D. HPE Apollo 2000 to provide hosted physical desktop and application virtualization to mobile users 

Correct Answer: A 

 

QUESTION 4

DRAG DROP 

Select all that apply. 

Click and drag the Network Interface on the left to match it with its HPE Server Family on the right. 

Select and Place: 
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Correct Answer: 
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QUESTION 5

Which network infrastructure components should an architect consider when recommending 40GbE in a server
solution? 

A. OM2 cables can be reused for runs of 50 meters or less 

B. OM4 cables can be reused for all runs out to the maximum of 300 meters 

C. Cables will need to be replaced by multi strand MPO cables 

D. Multimode cables will all need to be replaced by single mode cables 

Correct Answer: C 
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